9.2 Factor Trinomials - Guess and Check Af\S‘JE ) PRACTICE

| Factor the following if possible. Check your answer by multiplying! |
1. x2 —2x—48 2. x% + 14x + 24 3. m3 — 10m? + 16m

(x-— N (x+ c,) (x+12)(x +.‘L) ::\ C(::'_‘;’)"'(‘:f)%

Al CH;;EK YOUR ANSWER HERE! |, J;_EZHEC}( YOUR ANSWER HERE! |, |, CHECK YOUR ANSWER HERE!.,

oy - Bx- 43 Xt dx 424 | (=23t
P 3 \/ 2 J "™ (ml—\ov\-k\k ./
X -a2x-4 X 4 |%% "I'JJ* m3—\0rﬂa-+\bm
4. 2x>—7x—49 5. 2x2—15x+7 6. t2 —49

(Rxx 1) -F) | | [\ Y%-F)| | (=) (+7)

|/ CHECK YOUR ANSWER HERE!\, | |, CHECK YOUR ANSWER HERE! |, ||, CHECK YOUR ANSWER HERE!,

20— \4% + FXx =49 =4 =X+ ‘t_l'*‘?'t - -49
B2-Ix-49 V| ud-15x++ V| Poyq

7. 2p? —8p — 10 8. 9x? — 64 9. h? +3h — 54

Geea)(P-5)] | RS swores. [ oy h

(3x-3)(3x+9%)

'CHECK YOUR ANSWER HERE!, | |, CHECK YOUR ANSWER HERE! |,

2¢* -10¢ + 2o~ |0 AR 424% - 4% — 61 | W= b A\ -5H
2--10 /| adoer v | RStV

Factor the following if possible. You do not have to show work to check your answer, but you should still be
able to tell if it is close to being correct.

10. 3x% +18x + 15 11. x3 —36x 12. w2-1

3 (X4 b + S) X (X}—-BQ (LN “\3 (w-\-\
3(7< +5)(><-i\) ¥ (7(- Q)éC‘\'Q )




Factor the following if possible. You do not have to show work to check your answer, but you should still be
able to tell if it is close to being correct.

13. x? - 16x 14. 3x% + 5x + 2 15. 4x? +f»x—28
X (x-10) Gt Qe 1)] |21
1(3.7: +-})(X = 1)

Solve the following by factoring.

16. x* —4x—12=0 17A0=2X2+f»x—80 18. 2a® —8a =0
(+D-=0 | 0=2(t3%-40) n (a-)= D
X+dzo ¥X-4=0 |O=A(¥ +3)(x—5) TR R

X=-3 X=b6 X¥3=0 X-5=0 |[;a=0 vl
X=-%8 XES

19. x3+2x24+x=0

20. 252 - 16 =0

21, y2 44y =121

X(3¢42x+1)= 0 *14u-3) =0
Goaizo | 87 Y6320 repto o
X=0 ¥t\=po 5=y 5= -4 YWt3}=0 y-3=o

X=0  X==\ 3:% o\ "jé W=-% “3:3
22. 2x* =x+6 23. 42=c’+c

2 x-6=0 0=+~ 42

pre -0 | 0=(erAerd

1c43=0  X—=1=0 Ct3=0 (-6=9

ax = -3 x= 2 C=-1 c=¢6
X=-4 Xz




| Solve the following by factoring.

24. x2 4+ 12x+ 20 = 3x

YAy +20=0

25. 1=2h+3h?

O=3+2W— |

[x +w\{x+5): o (@ I (3\-\-\)[\& \ )
X446 X4§5=0 2\ -\=O W+ \=O
X = -4 R==5 3z |
=g heo
| Answer the following.
26. Simplify 27. Multiply (x + 5)2 28.Solve 2+5=7

(B3x*2—2x+1)—(3x2=x+05)

3= 4| ~3xt X-5

- X4

(x5)(x+5)
)<1+‘3x +8x+25

x'l+ lOx 425

¥:a

o I OV

| =X

29. Write the equation of the linear
function for the situation below.,

Bob has 47 dollars and spends 3
dollars every 2 weeks.

W47 - X ¥

30. Write the equation of the
exponential function for the situation.

Bob has 47 dollars and doubles his

\j—_ 43 (13;6

SLIEF(x) = x2 —x. find 2f (3) + 1
2(3-3 )+ |
2(06) |
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